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Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,

you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your

Admission Certificate. ,

After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take

away with you the Test Booklet.
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one of the given answers happens to be correct and there will be same penalty as above for
that question.
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for that question.

No marks shall be awarded for scrapped question(s).

. In case of any discrepancy found in English and Hindi Version in this paper, the English Version may be

treated as correct and final. _
CARRYING AND USE OF ELECTRONICICOMMUNICATION‘DEVICES IN EXAMINATION HALL
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1. If Ay, A, and A, are the area of a parallelogram, a rhombus and a triangle
' respectively standing on the same base and between the same parallels. Then
which oﬁe of the following i§ true ?
(A) Ay < Ay < A | (B) A1>A2.>A3
(©) Ay = A, = A, D) Ay = A, = 243
o aﬂﬂnaﬁwmmﬁ,wa@ﬂﬁ,wﬁqﬂmwm NG

B Ay, Ay T Ag €1 @ 9 F ¥ e o & 2

(A) Al < Ay < Ag (B) A; > Ay > Ag
(C) A1=A2=A3 (D) A1=A2=2A3
2. If n equidistant points Ay, Ag, Ag; sicininn, A, are taken on base BC of a triangle

ABC. If AjB = AjAy = AgAg = e = A,C and area of triangle

AAsAg is k cm?. Then, area of triangle ABC is :

4

(A) ‘nk cm? SO B o # DR en?

.-(C) (n + 1)k/2 cm? | . @) % cm*
ﬁﬁlﬁawABC%muﬁchw@mnﬁgAl,Aﬁ,Aa, ......... A, a3
™ #1 T A = AA, = Aghy = Lo = A,C T A AAA, 1 e &
ﬂﬁz%iﬁmcw@ﬂm%;.

(A) nk ¥ . = (B) (n + Dk Jrh2
C) (n + 1);13/2 2 _ D) k §wi2

TBC : 24/ECP/II—B 2 iy



In a row of girls facing North, Rinky is 10th to the left to Pinky who is 21st
from the right end. If Minky who is 17th from the left end and is fourth to
the right of Rinky, then the number of

(A) 37

igirls in the row are :

(B) 43
(C) 44

(D) 45
Wﬁ?ﬂaﬁa@ﬁ%m@@mﬁqﬁaﬁ,ﬁﬂﬁ,ﬁﬁ%ﬁ@wﬁ%

ﬁt%aqﬁmﬂarﬁﬁmaﬁ%ﬁfqﬁaﬁﬁna‘i%wﬁaﬁ%ﬁﬁﬁﬁr
¥, W U ww wefed @ gen -

- (A) 37 (B) 43
(©) 44 D) 45

4. The function sin™ x sin mx + cos™ x cos mx for x < R has PR lvalue
at:
(A) x = W4 when m = 2
(B) x = /4 when m = 4
(O) x = /4 when m = 6
M) x=mn |
Wsinmxﬁsinmx+cosmxcosmxﬁﬁxeR,W@IﬁImqﬁ:
(A)x=7d4‘ﬂ%“‘lﬁm=2 '
'(B)x=r:/41ﬂ%?1ﬁm=4
C) x=n4 WE "I m=6
M x=m=n ,-

TBC : 24/ECP/II—B 3
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5. In the number series”

24576, 6144, 1536, 386, 96, 24
ope number is wrong which is :
(A) 96
(B) 1536
(©) 6144
(D) 386 |
S At 24576, 6144, 1536, 386, 96, 24 F wE wem W@ ¥ S BB ¥ :
(A) 96 |
(B) 1536
(C) 6144
@) 386
6. If moon is related to satellite, then in the same way as earth is related to:
(A) sun
(B) solar system
(C) astroid
(D) planet _
af& moon, satellite ¥ Taftw ¥ 7o 3t WE earth 71 # ¥ firey grafm T2
'(A)_ sun - -
(B) solar éyste'm . | . | :
(C) astroid

(D) planet
TBC : 24ECPII—B 4



TBC : 24/ECP/II—B 5

Read the following information carefully and answer question Nos. 7-8 given

below :

(() Ram, Shyam, Mohan, Hari, Tulsi, Ruvi”and Klrtl are playing cards sitting
around a circular table. |

(i) Hari is not neighbour of Mohan or Tulsi.

(zi1) Ram is neighbour of Shyam and Mohan.

(tv) Kirti who is second to the left of Hari, is the neighbour of Tulsi and Ravi.

Then : |

= gu | argEE ufgd aa A we (7-8) & IR ANY

() T, T@m, 9, &0, qod, @ am $f S fF & guer 3 @ 9ri SR A48
v s W aw ® ¥

(i) &0, A st gordl o e T ¥

(i) T, TAW 9A AT F TR E

(o) WG < fF & & o ¥ @ B, gordt AW W@ A WET B

Which one of the following is correct ? |

(A) Shyam is between Ram and Hari

(B) Hari is between Ravi and Kirti

(C) Tulsi is to the immediate right to Kirti

(D) Ravi is to the immediate left to Kirti

fpq # @ FF9 & TI® 2

(A) vam, 1™ R &0 & d@= A §

(B) =0, Ta ik #ifd & o= 4 &

(©) qordt, F F goea T wE E | o

D) M, FE B g adf W6 §
' P.T.O.

=



Which of the following has the pair with the second person sitting on the
immediate right of the first person ?

(A) -Shyam and Hari (B) Kirti and Ravi
(é) Tulsi and Mohan (D) Ram and Tulsi

= % ¥ S 7w, el o wte, v afa $ qe <E W A8 ¥, ¥ 2

(A) @M qo1 & (B) =ifd aw &
(C) & o e (D) T @& goEt

Which one of the following is true ?
(A) 48 5 V4§ g2 | gl6
(B) 5Y4 > 418 5 gl6 , 912
(C) 9ol/2 > 31)‘6 > 413 i 51/4
D) 61!3 2, 51)'4 - 41!3 S 21}2
e # ¥ v T 2 2
(A) 417 5 gt 5 912 , 318
(B) 514 5 418 5 gl/6  ol/2
(C) 2V2 > 3V6 5 4U3 , 5l
D) 63 > 5UA 5 4U3 5 U2
10.

Two numbers are respectively 20% and 50% of the third number. What percent
is the first number of the second ?

o (B) 10%

(C) 25% D) 40% \

& et fed AEd TEm F FE: 20% T 50% ¥ W W, T e @
fralt wiowm & ?

A) 5% o

s D) 40%

‘' TBC : 24/ECP/II—B | 6 .



11.

12,

13.

(A) 60

In what time, will the simple interest be 2/5 of the principal at 8 percent per
annum ?

(A) 5 years (B) 6 years

(C) 7 years (D) 8 years

8 WM 1 At X A, frey wma & g =, @R @ 25 @ wEm 2
(A) 5 =d

C) 7 =4

(B) 6 Td

(D) 8 Td

If 324 x 150 = 54, 251 x 402 = 48 and 523 x 246 = 120, then in the same
way, the value of 651 x 345 is :

(A) 60

(B) 85

(C) 120 (D) 144

g 324 x 150 = 54, 251 x 402 = 48 TAN 523 x 246 = 120, 99 TH TS Q
651 x 345 &1 A ¥ :

(B) 85

(©) 120 D) 144

Which is the odd one sequence of the letters from the given alternatives ?

(A)- AYBZ (B) BXCY

(C) DVEW (D) MPON

A W awd § faom s S E 2

(A) AYBZ (B) BXCY
(C) DVEW (D) MPON
TBC : 24/ECP/I1—B

7 P.T.O.



14. A statement is followed by the two statements (I) and (II).
“On

e should not sleep under a tree.”
Statements :

() The falling leaves may spoil our clothes.

(I) Trees give out CO, at night which is injurious to health.
Which one of the four given choices is correct ?

(&) Only () is implicit (B) Only (II) is implicit

(C) Both (I) and (II) are implicit (D) Neither (I) nor (II) is implicit
QA FF (D) T (1), = H99 | apufa §

5 2 O 0 W 5 A

5UT :

(D et g8 ofmel TR v e = g ¥

aD ¥ W@ H CO, 2 & W f wrem & fow ahwws ¥
@ = 8 | s faeey w6 ¥ 2
(A) wad (1) swafifed §

(C) 3 (1) T« (1) e=ffea §

(B) FH=w (II) srfifed &

O T& @ AT A QD s=tifea &
Five men A, B, C, D and E read a newspaper. The one who reads first give
it to C, the one who reads last had taken it from A. E was not the first or

last to read. There were two readers between B and A. The person who reads
the newspaper last is :

-15.

(A A (B) B

(C) E D) D
G st A, B, C, DA E TF WHER-W R ¥ W e wew ¥ 9w @ ¢ w)

am%,aﬂtshmﬁm%agsﬂA%ﬁm%nEmaﬂtaﬁmq—@mﬁ
T BAM AD A A QA T I B AN H TG On A ¥ .

(A) A ~(B) B

(C) E D D
TBC : 24/ECP/II—B 8
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16. A man's working hours in a day were increased 20% and his wages per hour

were increased by 15%. Then his daily earning is increased by :

‘
(A) 28% (B) 38%

(C) 35% D) 40%

@ AR & A § wW F0 93 el § 20% it Gl B Al € 3R IR HeAA
15% wfa aver =g foon S &1 79wt wfed B FuE fha wgd € 2

(A) 28% (B) 38%
(C) 35% D) 40%

17. In a certain code, COMPATIBLE is written as BQNPDDKAHS. How is

STABILISED written in that code ?

(A) JCBUTEDTHM : (B) JCBUTCDRHK
(C) JCBUTEFTJM (D) TUBCJCDRHK

@ Y= %1 %, COMPATIBLE 1 BQNPDDKAHS ffan s 31 =t 9 &
FATER STABILISEDaﬁﬁmﬁ@rm-%mm@ﬁ ?

(A) JCBUTEDTHM (B) JCBUTCDRHK

" (C) JCBUTEFTJM (D) TUBCJCDRHK

TBC : 24/ECP/I—B 9 B



18. Which year will have the same calendar as that 1991 ?

(A) 2001 (B) 2003

(C) 2006 D) 2010 4
1991 98 & i@ few = &1 W= M ?

(A) 2001 (B) 2003

(C) 2006 O 2010

' ; ?
19. At what angle is the two hands of a clock inclined at 9 hours 45 minutes

1 - 1

(&) 225 (B) 237
. 1. . - 1.
(©C) 24§ _ (D) 25_2_

| 9m4slﬁﬂzmu@ﬁﬁagﬁi%aﬂamww%?

‘ s
-

p 1°
(A) 22-2- (B) 235
; 1 | l-
(C) 245 ; D) 252 _

20. A cyclist rides 24 km at 16 km/h speed and further 36 km at 15 km/h speed. |
His average speed for the journey is :

(&) 15.28 km/h (B) 15.38 kmvh
(©) 15.5 km/h (D) 1638kmh

& aEfra TR 24 fEdt., 16 fdll/o. = @ @ @ik em 36 T, 15 feem
2 = e ¥ g &) gEn # Iuet ol W F a2

A) 15.28 Fet./H. ~ (B) '15.38 fit./H.

. (Cj 15.5 fweit./H. D) 16.38 e/, 0
TBC : 24/ECP/II—B 10



21.

22.

TBC : 24/ECPAI—B

If i : :
the population of a city at present is 10648 and the rate of increment is
10% per year, the population before 3 years was :

(A) ‘10,000 (B) 9,000

(C) 8,000 (D) 7,000

AR TF AR F Tl TS 10648 ¥ 3R 10% F @ A I a9 w6, 99 9
96 g SHOwE ot -

(A) 10,000 (B) 9,000

(C) 8,000 M) 7,000

There are two candidates Bansi and Pappu. During the campaign 40% of the
voters promised to vote Bansi and rest for Pappu. However, on the day of election
15% of the voters went back on their promise to vote Bansi and instead voted
for Pappu. 25% of the voters went back to their promise to vote Pappu instead
voted for Bansi. Suppose Bansi lost by 2 votes, then the total number of voters
is : |

(A) 90 (B) 95

(C) 100 D 110
ﬁﬁammﬁsﬁmﬂ%nmﬂ%ﬂtﬁM%mﬁﬁﬁﬁﬁaﬁzéﬁaﬂm
foprar oiR o gE A Ty BN | TRl g o 15% Haewei 4 37qq arael & faers
ﬁqﬁaﬁzﬁmﬂﬁwﬁn%%nmaﬁ%maﬁazﬁma‘ﬁaﬁwl
o @ 2 A @ TR TN, §9 G FEel #OHe ¥ |

(A) 90 | iRk B

(D) 110

(©) 100 '
o | P.T.O.



1 ual
23. A shopkeeper bought 27 tables for Rs. 5,940 and sold them at a gamn €q
to the selling price of 5 tables. Then his gain percentage 1s :

8 8
21 —9% =20
(A) 11 (B) 24 T

8 ' 8
22 — 9 = q
©) 22-% @) 20-%

U AR T 27 A9 5,940 & § @O qon 3% 5 4 & fod Tod B SO AN
R SE T Y W R ¥

(A) 21 —-—181 % . (B) 24 E %
8 8
22 — g =
(C) 11 ° (D) 20 1 %.)

24. 5 skilled workers can build a home in 20 days, 8 semiskilled workers can build

the same home in 25 days and 10 unskilled workers can build the same home

in 30 days. A team of 2 skilled, 6 semiskilled and 5 unskilled workers will build

the same home in :
(A) 20 days o (B) 18 days
(C) 16 days (D) 15 days

5Wmmm@maﬁ20ﬁaﬁwm%,sa¢qﬁmﬁﬁnmm
ﬁ25ﬁwﬁwm%wwwﬁa%rﬂmmwaﬁsoﬁﬁﬁwm
.%l2Hﬁﬁm,6aﬁ-umfmw5wﬁﬁmmﬁaﬁ@aeﬁmm@m
fedt & st 2

(A) 20 fa . ® 18w
(©) 16 f&A D) 15 f=

TBC : 24/ECP/II—B 12 B



25.

26.

The price of an article is raised by 30% and then two successive discounts of

10% each are allowed. Ultimately the price of article is :

(A) increased by 10%
(B) increased by 5%
(C) increased by 5.3%

(D) increased by 4.3%

TP S H1 I 30% 91 S T aon ¢ TR 10% H ge T < W) T 9
H BT

(A) 10% ¢ S
(B) 5% &% A
(C) 5.3% &g W

D) 4.3% = A

The numbers, both greater than 29, have HCF 29 and LCM 4147. The sum

of numbers is:

(A) 696 : (B) 699

(C) 729 - (D) 749 |

3 et St fF 29 ¥ WET ¥, B WA I AU HHA: 29 U 4147 ¥,
gEmai &1 A ¥ : .

(A) 696 (B) 699

©) 729 | D) 749

TBC : 24/ECP/II—B 13 : P10



27. The average of first three numbers is thrice the fourth number. If the average
of all the four numbers is 5, then the fourth number is :
o B) 4
(C) 4.5 D) 5
Wmmﬁmaﬁm,ﬁrﬁﬁmaﬂ?ﬁqﬂm%wﬁmﬂwﬁwﬁwm
5% @@ S wem ¥ |
@A) 2 - B) 4
©) 45 o s

28. A family has a man, his wife, their 4 sons and their wives. The family of every

son also have three sons and one daughter each. The total number of male

members is :

(A) 4 | (B) 6
© 12 ' O 17
@nﬁﬁﬂﬁ@aﬁﬁ,aﬁﬁqﬁﬁﬁm4gﬂawmﬁaﬁ%|mgﬁmw
frd T A T TR ¥ T E G A wen e A ¥
A) 4 , | (B) 6

(©) 12 PR, | D)  17

TBC : 24/ECP/II—B 14



Read the following information ‘carefully and answer question Nos. 29 to 32
given below :

@O A + B means A is the father of B.
(@) A — B means A is the wife of B,
(Z) A x B means A is the brother of B..
(@) A + B means A is the daughter of-B.
1 g & amgds il ae R e (20 9 s2) # I i
() A+ B a1, A, B faar &1
@) A—Bmaﬁ,A,ﬁﬁnc—?ﬁ%n
(i) A x B %1 319, A, B & WE T
(@) A =+ B %1 3%, A, BH TR
29. If P+ R + S + Q, which of the foll.owing_ is true ?
-(A) P-is the daugﬁter of Q (B) Qis tﬁe aunt of P

(C) P is the aunt of Q ; (D) P is the mother of Q

g PR+ S+ Q T A § ¥ S w1 ® ?
(A) P, Q &t o ¥ (B) Q,Paﬁaﬁ“rfé
(C) P, Q & 9 ¥ - - @ P, Q¥ R

g 5B P.T.O.
TBC : 24ECPI—B 15 o .



30. If P x R + Q, which of the following is true ?

(A) P is the uncle of Q (B) P is the brother of Q

(C) P is the son of Q i (D) P is the father of Q

I P x R + Q, 7@ 9 # ¥ 99w & fasey 98 © ?

(A) P, Q &1 =r=1 ¥  B) P,QF WE ¥

CP,QHFIAT - - D) P, Q & far ®
31. If P — R + Q, which one of the following is true ?

(A) P is the mother of Q (B) P is the niece of Q

{C) P is the sister of Q (D) P is the aunt of Q

aff P - R + Q, a9 f=1 # @ s faves 99 € 2
(A) P, Q &I Wl ¥ (B) P, Q ® weisl €
(C) P, QF &&7 § - O P, Q 1 9=t ©
32. If P x R - Q, which one of the following is true ?
(A) P is the son-in-law of Q (B) P is the brother-in-law of Q
(C) P is the father-inlaw of @ (D) P is the sisterinlaw of Q
ﬂﬁPxR—Q,aﬁﬁﬂﬁ.ﬁﬂWﬁmw% 2
(A) P, Q &1 wi-gF-< ? - (B) P, Q & F-FA-° &

© p, Q@ EwEE@E @O PQW R
TBC : 24/ECP/I—B 16



A solid cuboid has been colored Black on two of its opposite sides, Red on the
two other opposite sides and Green on remaining two opposite sides. It is then
cut into 72 cubes in such a manner that the 64 cubes are smaller and the
remaining 8 cubes are bigger in size. The bigger cubes should not have any

of their surfaces colored Black. Now, answer the following questions (33-39)

based on this solid cube related information :

TH I N W QA faodia o w @ ¥ @ & W E ae @l fawdid S aw
TR T T A e AR TR TN F TR 72 TFS A T TER BRI T
35 64w 90 ¥ 8 gu 8 W @ o H) A W W FE o 7 FW @

& OT B e m,ﬁ(sms)mmaﬂmmwmﬁammém:

33.. How many cubes are there which have at least one of their surfaces colored
Red ?
' -(A_) 16 | (B) 32
(C) 40 (D) 64

¥ fret w % R N Y %Y T TS o o 2

(A) 16 | | (B) 32
(C) 40 | D) 64
TBC : 24/ECP/II—B 17

P.T:O:



34. How many cubes are there which have only one of their faces colored ?

(A) 8 (B) 10

(C) 16 D) 24

W@ R o & e daw w g @ w2

(A) 8 °

(B) 10
(C) 16 (D) 24
35. How many cubes are there which have three of their faces colored ?
(a) 2 : (B) 4
(C) 8 (D) 12

W w i sgo @ § 2
A) 2 (B) 4
(C) 8 | (D) 12
36. How many cubes are there which do not have any color on any of their surface ?
A) 4 (B) 8
(C) 12 (D) 16
2@ femt & Fr T o ¥ 2
(A) 4 | - (B) 8
(C) 12 D) 16

TBC : 24/ECP/II—B 18



37. How many cubes are there which have at least one of their surface colored

‘Green ?

(A) 16 (B) 30

(C) 32 - D) 40

W v w7 & o w9 A w9 @ T W M w2
(A) 16 - ® 30

(€ 32 - | (D) 40

38. How many cubes are there which have at least one surface colored Red and

opposite surface colored Green ?

A 0 (B) 2

(C) 4 - | © 8
@ﬁmﬁm%ﬁﬁmﬁm@wmh%ammww%ﬂ% ?
A) 0 ' - B) 2

©) 4 | D 8

39. How many cubes are there which have two of their adjacent surfaces colored

Red and Green (considering only two sides) ?

a) 8 N ®) 16

(©) 24 s - @ D) 82 |
@mm%ﬁﬁaﬁaﬁwwm@ﬁ%(maﬁmﬁ ?
A) 8 - (B) 16

©) 24 .- (D) 32

TBC : 24/ECPAI—B. - 19 g P.T.O.



40. The missing term in the following figure is :

9 13 12

19 | 10| 5

8 ? | 11
(A) 9 B) 15
(C) 13 M) 11
R fu T fay A U 3iH/9T S § 2

9 13 | 12

19 | 10 | 5

8 7 | 1
(A) 9 (B) 15
(C) 13 D 11

41.

A 4:1 B) 2:1
C) 1:2 D) 4:2
aﬁﬁ%mmﬁﬁwa’m’rﬁmawﬁﬁﬁ
T T AR H S H ST @ am 2

A) 4:1 B) 2:1

©€)1:2 D) 4:72

TBC : 24/ECP/II—B 20



42,

(A) 8 ®B) 9
TR R e S e s %2

4 8 B) 9
©) 10 D) 11

(A) na?/2

©) a® (2 - 1) M) a2 (zx - 12
™ o e e 8 T ded s § 2

B) a? (z - 1)

C «a

(&) na%/2 B) o® (x - 1)

©) a® w2 - 1) D a2 (x - 1)/
TBC : 24/ECP/II—B 21

BT.O.



4.

45.

In an examination, 65% of the students passed in Mathematics, 48% passed
in Physics and 30% passed in both. How much percent of the students failed

in both the subjects ?
(A) 83 (B) 43
(C) 13 D) 17

Enﬁ&nﬁ,nﬁmﬁss%ﬁmﬁaﬁnfgq,ﬁﬁraaﬁsrmﬁ48%am30%a‘l=ﬁﬁ
IE B < fawdt # orgeiel @R Al @ whiva ¥

(A) 83 | (B) 43

(C) 13 D) 17

The price of sugar rises by 25%. If a family wants to ‘keep their expenses on
sugar the same as earlier, the family will have to decrease its consumption .

on sugar by :

(A) 25% (B) 20%

(C) 75% D) 50%

Ft F F 25% F ST ¢ AR T RER AR W aw o @ v wwen
¥ g 9 TEA HE o 79 AR H A F W e wioww ww weh e o

(A) 25% - (B) 20%

(C) 75% D) 50%

TBC : 24/ECP/II—B 22



46, 1¥1-2,1_1 L et

— —_— =k = e =3 A H
gt T T S1 and 1+2+3+4+ q, then

(A) Sl=1andS2=1

(B) S; =1 and S, = log 2

©) 8,

log 2 and S, does not exist

(D) Sl=log2and82=1

ofe 1__;_4.__.}_ ,,,,,, =8, T 1+—+—+l+ ...... =5,, @™

(B) Sl=1'691182=10g2

(C) Sy

log 2 @41 S, e # =@ §

TBC : 24/ECP/1I—B .23 P.T.0.



6 lectures are scheduled in a week starting from Monday and ending on Sunday
of the same week. Computer Science is not on Tuesday or Saturday. Psychology
is immediate after Organizatrional Behaviour, Statistics is not on Friday and
there is one day gap between Statistics and Research Methods. One day prior
to the schedule of Economics, there is no lecture (as that day is Off day

and Monday is not the Off day). Based on this information, answer the

questions 47-50 :

FTEAR ¥ TE A TR B TG 2 a9 e § 6 omer fuifd §1 R
TR 1 EEER AGE UEER H T ¥ e w s G ® g
T %1 wiferR w1 AR F T ¥ o wiferw! ow fed ugg $ 49 q @
frq w1 O &1 adures @ fauifa W A @ A wed, 9 oeE %) (9
srrq:ﬁq%am@wmﬁqﬁﬁ%ha‘rﬂémﬁwuntrzwﬁ(ﬂ—sméa‘
IR T
47. Which of the following is the last lecture scheduled ?

(A) Economics (B) Research Methods

(C) Psychology _ (D) Statistics

TBC : 24/ECP/II—B “



48. Which lecture is scheduled on Friday ?

(A) Psychology (B) Research Methods

(C) Computer Science
TR & fFuw sarem & 2
Q) Tfagm

(D) Economics

(B) < Ag=m

(C) F=R uE (D) d¥TEH

49. How many lectures are scheduled between Economics and Psychology ?
(4) 1 (B) 2
C) 3 D) 4
aﬁmawﬂﬁhﬁm%?ﬂamﬁwﬁﬂfﬁa% ?
(A) 1 (B) 2
) 3 D) 4

50. Which day is Computer Science scheduled ?
(A) Monday (B) Thursday
(C) Tuesday (D) Sunday
FR W e @ fuife ¥ 2
(&) <Ew B) Tow
(C) HTerER D) ER

TBC : 24/ECP/II—B 25
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i 66 .
Read the following passage carefully and answer the questions 61 to

Intra-Séctora] trade arises in order to take advantage of important cconomios
of scale in production. Infact, international competition forces each company
or firm in industrially rich countries to produce only one, or at the most a
few, varieties and styles of the same product rather than numerous difforent
varieties and styles. This is essential in keeping unit costs low. With fowor
- varieties and styles, more si:-eciﬁc and effective machinery can be developed
for a continuous operation and a longer production run. The nation then imports
others varieties and styles from other nations. Intra-industry trade is beneficial
for the consumers due to wider range of choices, i.e. the better variety of
differentiated products, available at the lower prices made possible by economies
of scale in production. As a result, large welfare gains arise from tho ability
of consumers to greatly increase the variety of Goods that they can by y through
trade. The significance of Intra-industry trade became noticeable when tariffs
and other obstructions to the flow of trade among members of the European
Union, or common market were removed in 1958. It was foung that volume
of trade increased but most of the increase involved the exchange of diffe rentiated

products within each broad industrial classiﬁcation,

TBC : 24/ECP/II—B 26



51.

52.

93.

The impact of International competition on Intra-Sectoral trade can be visible

in :

(A) Restricted advantages of production

(B) Undesirable effect on Industrial Production

(©) Availability of wider varieties of products
(D) Limited varieties of the same products

Lower product price means :

- (A) Dearth of Choice

(B) Continual production run

(C) An increase in Trade ihfofmation Exchange

(D) Increased Consumer purchasing power

Use of Specialised Machinery Iand Development shall lead to :
-(A) Import of varieties of products

(B) Hinciered ‘intra-industry trade

(C) Decreased Consumer Welfare

(D) More varieties of pl_'oducts

TBC : 24/ECP/11—B 27 P.T.O.



54.

55.

56.

57.

Removal of barriers to the flow of trade in European Union led to :

" (A) Emphasis on differentiated products

(B) Slow Intra-Industry Trade

(é) Flow of Union Products

(D) Surge in volume of trade among member states
Synonym of thé word ‘noticéable’ is :

(A) Unobtrusive

(B) Perceptible

(C) Friendliness

(D) Detrimental

In communication process, bo\dy language is associated with :
(A) Su‘t:;ject taught (B) Escapism
(C) Culture (D) Implicit
Non-verbal communication is mostly :

(A) Unst;ructured . = 4B) Auﬁomated

(C) Prearranged _ (D) Structured

TBC : 24/ECP/II—B 28



58. In Communication, chatting on the Internet is referred to as what. type of

communication ?

(A) Spatial communication
(B) Tactile communication
(C) Parallel communication

(D) Grapevine communication

59. Which of the following is/are barrier(s) to effective communication ?

(A) Physical noise, psychological noise
(B) Active listénigg
(C) Colour, sports
(D) Gender
60. In communication, _iqterpretation of the message depends upon :
(A) . The context
(B) Transmission speed
(C) Channel inefficiency
(D) Associated noise

TBC : 24/ECP/II—B . . "29 P.T.O.



61. Select the incorrectly spelt word :
(A) Anxiety
(B) Benefited
(C) Peity

(D) Mercenary

62.

Select the word opposite in meaning to the given word ‘Gregarious’.

(A) reclusive
(B) extrovert .
(C) assertive

(D) amiable

63. Select the word opposite in meaning to ‘Tremulous’.

.(A) quavering
tB) wobbly

- (C) sha.ky

(D) steady -

TBC : 24/ECP/II—B 30



64. Choose the one-word substitute for the following description :
‘Sole right to make and sell one’s own invention’
(A) paten (B) patron
(C) patent " (D) patine

65. -Choose the one-word substitute for the following description :
‘one who devotes himself to pleasure’
(A)  demonist _ (B) hedonist
(C) affluent (D) canonist

In questions 66-70 four options are given for the underlined idiom/phrase. Choose

the 6ption which best expresses the meaning of the idiomfphrase_.
66. Ajay is alv‘s_rays ready to eat anyone’s salt.

(A) to eat tasty dishes (B) | to be one’s ggest

(C) to cook tasty dishes | (D) to take resmnsil;ility

67. They decided to bury the hatchet.

(A) to maintain a secret (B) to bury the treasure
(C) to bury the bucket" D) to make peace
TBC : 24/ECP/1I—B 31
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68. The police kicked up a row over the issue.

(A) kicked in the air (B) made a great fuss
(C) avoided the issue (D) have been waiting

69. The new project was strewn with problems and the technical glitch was only

the tip of the iceberg.

(A) only a small part of the main problem
(B) unsolved problem
(C) lingered problem
(D) not a problem
70. Ajay has the habit of working by fits and starts.
(A) inconsistently
(B) exc_:itedly
(C) seriously

(D) with focus

TBC : 24/ECPII—B 32



71. Ram, Mohan and Sohan start a business each investing Rs. 16,000. After 3
months Ram withdraws Rs. 2,000, Mohan withdraws Rs. 4,000 and Schan invests
Rs. 8,000 more. At the end of the year a profit of Rs. 41,580 was made. Then
Ram’s share is :
(A) Rs. 12,000 (B) Rs. 12,180

(C) Rs. 12,480 ' (D) Rs. 12,880

T, We a9 DT T&E 16,000 T F FRW D WY T AR YE FW@ &1 A
TER T TH 2,000 T PR E, BT 4,000 5. Free § a9 8,000 T R
Y FO ¥ W @ 3 § 41,580 T 1 @M B &1 99 TW W e ¥ s
(A) 12,000 =. (B) 12,180 ®.
(C) 12,480 = (D) 12,880 ¥

79. Ramchandani decided to donate 16 percent of his salary. On the day of donation,
he changed his mind and donated Rs. 4,320 which was three-fifth of what he
had decided earlier. Then Ramchandani’s salary is :
(A) Rs. 44,000 ‘ “(B) Rs. 45,000
©) Rs.. 46,000 (D) Rs. 47,000
TTEeT ST da F 16% T FE F POl AW R T FW A G, wew
— st 9% 4,320 T TF B T S fF 3/5th ¥ 3@ ¥ w1 A W wed qW
w0 o7 Frota faa on| q@ THAE B OqA T
(A) 44,000 - (B) 45,000 ®.

(C) 46,000 % ' (D) 47,000 =



73. Pure milk cost is Rs. 20 per liter. After adding water, the milkman sells the

mixture at the rate of Rs. 18 per leter, thereby making a profit of 25 percent.
In what ratio does he mix the two ?

(A) 18 : 7 | | (B) 18:5

C 12 : 7 M) 12 :5

G ¥ N FW 20 T U e 21w P § ww, e e g R
18 %. Wi e =a ¥ ol 25 wfiww e Fwen ¥ fRw ogoa # 9E gy AR O

+ faemm & ?
(A) 183 7 B) 18:5
© 12 : 7 D) 12:5

74. The difference between simple interest and compound interest on a certain sum
of money fgr two years.at 5 percent per annum is Rs. 10. Then the sum is:
(A) Rs. 4,000 . (B) Rs. 4,200
(C) Rs. 4,600 (D) Rs. 4,800
5mﬁuaam$mmmm%mmwmm
5 s 10 ® ¥ 7@ Beww TR -
(A) 4,000 =. (B) 4,200 %.

(C) 4,600 % M) 4,800 <.
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75. Moolchand faces towards North. Turning to his right, he walks 25 meter. He
then turns to his left and walks 30 meter. Next, he moves 25 meter after turning
to his right. He then turns to his right again and v'v.sltlks 55 meter. Finally,
he turns to the right and moves 40 meter. In which direction, he is now from
his starting point ? | |
(A) South-West _ (B) South

(C) North-West (D) South-East
WWH@WWﬁ%|RME@WWQ5ﬁ.W%iHﬁW
I T e § 3R 30 M. =@ ¥ st a% <l A qEE 25 . Wer ¥1 9%
Wﬁww%ﬂw%l FereTE, g8 gt AUk AR 40 Hi. S
¥ o ug o o fag @ few fewm d ¥ 2
(@A) gferur-afy=m | (B) afaor
(C) SER-9R=m . (D) TFI-g=
76. The cost of lighting 200 bulbs for 6 days for 4 hours everyday is Rs. 40. How
many bulbs can be lighted for 15 days for 3 hours everyday at the cost of
Rs. 48 ? 5
(A) 120 bulbs (B) 128 bulbs

(C) 136 bulbs (D) 144 bulbs

aairaﬁ‘f2003@&%3:’11139@?%##,61&1%4'@%%@40—5%—. 15
ﬁﬁiﬁ_aa@rﬁ%aﬁuﬁﬁ?mamﬁ@m%maﬁﬁ?

(A) 120 (B) 128 =i .
88 s P.T.O.
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T

78.

79.

TBC : 24/ECP/1I—B

The number of triangles formed by 11 points (out of which 5 points are collinear)
in a plane, is :

(A) 165

(B) 175
(C) 155

(D) 145

11 fagen (e @ 5 fag omteia §) ¥ = Bl & 98 § ¢
(A) 165 (B) 175

D) 145
In the places of last two digits of a three digit number are interchanged, a

(C) 155

new number is obtained which is greater than the original number by 54. The

difference between the last two digits of that number is
(A) 2

) 6

B) 4
D) 8 |
o ot den # afm ) 3w e # wew M ¥ iR ww i " fued
TS 5 U@ dem ¥ 54 W %) e dEN B afe ) S § HW ¥ o

(A) 2 B) 4

(C) 6 D 8

If a® +§ =98(a > 0),-then the value of a® +l3 is :
(A) 525 (B) 770

(C) 870 D) 970

1
Ife a2+;12—=98(a>0),aa a3+§ FTAA T :

(A) 525 (B) 770

(C) 870 D) 970

36



80.

81.

82.

9 1 1 1
Hx*=y +z,y2=z+xand 22 = x + ¥, then the value of

‘ x+1+y+1+z+1

is :

(A) xyz B) x+y+2z

(C) x% + y2 4+ 22 D) 1

zTﬁ:::L'g'---_).r+z,_y2=z+.1c‘ﬂ’1ﬂzz=.ac+y,?l7¢i : + - + - FAA T
x+1 y+1 2z+1

(A) xyz B) x+y+z2

(C) 2 + y% + 22 D) 1

The value of cos 0 + cos 1 + cos 2 + ......... + cos 179 is :

(A) -1 (B) 1

C) 0 ' D) 2

cos 0 + cos 1 + cos 2 + ...... . + cos 179 FT AH ¥ :

(A) -1 ’ B) 1

(M D) 2

When the angle of elevation of the sun increases from 30° to 60°, the shadow

of a tree is diminished by 5 meter. Then the height of the tree is :

(A) 543 (B) 5V3/2

(C) 2J3/5 | D) 5J3/4

aaqq’wrwm‘m30°ﬁsmém%wﬂsﬁm5ﬁamawﬁt%n
gH I E

(A) 5\{:’3’ | (B) 5\@./2

© 24375 @) 5/3/4

P.T.O.
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83. In a triangle ABC, D is midpoint of the side BC. If AC > AB and AE is |

perpendicular on BC, then which one of the following relation holds ?

(A) AB% = AD? — BC.ED + ;11—302

(B) AB2 = AD? + BC.ED - %Bc2

(C) AB? = AD? + BC.ED + BC2

(D) AB? = AD? - BC.ED - %BCz

f9 ABC #, D, 4s1 BC @1 we fag ®1 9 AC > AB @41 AE, BC T o
e fE A I E § ?

.(A) AB? = AD? —{BC.ED + 7BC 1
s 1.9
(B) AB2 = AD* + BC.ED - ZBC

(C) ABZ = AD? + BC.ED + BC?

() AB2 = AD? — BC.ED - —BC?

TBC : 24/ECP/I—B - 38



84. The length of two perpendicular chords of a circle are 2¢ and 2b respectively.

If distance of its points on intersection from the centre is ¢, then the radius

of circle is :

az__bz_cz
\J 4

(B)
' 2 2 2 2 2 2
©) JG +b2 +c ) ’a +% +c

wF T9 S o e W el A 20 A 26 ¥ AR g e g
ﬁ#ﬁﬁﬁﬁﬁc%?ﬁ?ﬁ[ﬁm%: '

(A) Ja2+£:+c2

a?+b?+c?

(A) 1

3 a2 — b2 —c?
(B) 1’ 4
T b4 O ’2+d‘.av2+c2
(C) \]E%_ic_ - (D) 9._3_

85. The area of the region bounded by the equations y = |#] —landy =1 - |x]

is :

(A) 2 B) 4

(C) 6 D) 8
me=]x]-_1amy'=‘1—|x1$'s'mazum'ﬂa‘mﬁ%:
(A) 2 B 4

(C) 6 £ - (D) 8
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86. If n=7+4+3, then the value of J?_l-{——L is :

Jn
A) 3 (B) 23
©€) 343 D) 4
AW n=7+4J3, @ JE+—J1: rﬂmj T
A) 3 ® 23
(C) 343 D) 4

87. The height of the cylinder of maximum volume that can be inscribed in a sphere

of radius a is :

(A) a/3 - (B) 2a/3

©) av3 D) 4 |
Sfuwad amaad ot ded St 6 B o 9 T @ o gen ¥, @t S9E #=1 w§ ?
(&) a/43 ®B) 2273

©) a3 D) 4

88. The chance that a non-leap year selected at random will contain 53 Sundays,

is :

@ 2 ® -
'(C)% (D).‘;
r-arfed # 53 faar ag=sa o & fead s ¥ 2
@ 2 ®

© 3 ™ 2
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89.

90.

(C) 323 (D) 324

A 150 meter long train is running at 55 km/h. In what time will it pass a

man who is running-at 10 km/h in the same direction in which the train is

going on ?

(A) 10 seconds (B) 12 seconds

(C) 14 seconds (D) 16 seconds

150%3@?@55%@.&3%%%%@%mﬁwﬁﬁrﬁ@aﬁa

q, o T 10 fFdft/e. =1 9@ @ mE = o & Rwn § W1 @ &, e 2

(A) 10 A& (B) 12 dFvE

(C) 14 T&FvS D) 16 THTS

Out of 8 men and 5 women, a committee of 5 is to be formed. The number

of ways in which this can be done so as to include at least 3 women, is :
(A) 321 : (B) . 322

(C) 323 . D) 324
3wam5ﬂfsalaﬁﬁﬂ@m5ﬁﬁﬁﬁﬁﬂmﬂ%lmﬁaﬂ$ﬁagqﬁ;ﬁ
a1 Tt & s T e 3w 3 A & 2

(A) 321 (B) 322

TBC : 24/ECP/11—B . 4 : P.T.O.



91. The probability that a boy pass an examination is 3/5 and that for a girl is
2/5. Then the probability that at least one of them passes the exam, is :
(A) 1 (B) 23
(C) 19/25 D) 3/25
@mﬁqﬁwﬁmﬁﬁmﬁmwsﬁmasﬁﬁ%%:aawﬁm
T Al @ DTS W wRE
@ 1 (B) 23
(C) 19/25 D) 395

92. Two men A and B start together from the same point to walk around a 9 km

long circular path. A walks 5 km and B walks 2 km an hour in the same direction.

Then they will meet first at starting point after :
(A) 4 hours (B) 5 hours
(C) 9 hours (D) 10 hours

Sﬁa—ﬁqﬁmwmamAWwa%ﬁ@ﬁgmmm:ﬂa

“¥1 A, 5 fft. 7 B, 2 feeit. @mﬁwmﬁﬁ%iﬁémﬁg
R fHd ¥ & a5 faed ?

(A) 4 U2 (B) 5 wue

(C) 9 5w M) 10 gu

TBC : 24/ECP/II—B | 42



93. Two trains of equal length are running on parallel lines in the same direction
at 45 km/h and 35 km/h. The faster train passes the slower train in 27 seconds.

The length of each train is :

(A) 350 meter (B) 300 meter

(C) 250 meter (D) 200 meter

Wmﬁﬂmﬁmaﬂ%ﬁmmﬂﬁm:%mﬁﬁm

35 fF/. F 9 ¥ 99 W 39 T a6l 1@ i e ael | F 27 9608
H 99 S §1 99 TS G F TR § o

(A) 850 . (B) 300 .

(C) 250 #HI. (D) 200 .

94. A certain number of men can complete a piece of work in 90 days. If there

are 8 men less, it would take 10 days more. The number of men originally

were
(A) 80 ' (B) 90
(C) 100 (D) 110

@mﬁsoﬁﬁ@ﬁﬁaaﬁwﬁmwm%mﬁzaﬁswm
%,ﬁs%loﬁﬂwwﬁﬁlmwﬁﬁﬁﬁﬁﬁmﬁ:

(A) 80 (B) 90

(C) 100 | D) 110
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95. Consider the following statements :

(D) Centroid, incentre, circumeentre and orthocentre of equilateral Lriangle are

co-incident.

(II) Circumcentre and orthocentre of an obtuse angled triangle always lie inside

the triangle.
Then which one of the following is true ?
(A) Only (I) is true
(B) Only (1) is true
(C) Both (I) and (II) are true
(D) Neither (I) nor (II) is true
= FeHl | faur Fifeg
(D wHaE B & S5®, AR, Taw ad] TEahs Aged €1
(II) fe=s aar a=s=, Afusam e & @ @ & o=z 3
a e 4 4 F9m fageq 9@ § 7
(A) daa () ¥4 &
(B) Haa (I) ¥ &
(©) 3 () 7w (1) T &

O AT/ @ AAR A TR
TBC : 24/ECP/11—B 44 A



96. If corre i :
sponding sides of two similar triangles are in the ratio 9 : 4, then the
ratio of its areg ig -

(A) 9 :
4 (B) 3:2

(C) 81 : 16 D) 27 -8
= ' 2

3HD %0l = SA9a

(A) 9:4 (B) 3:2
(C) 81 : 16 D) 27:8
97. The value of tan x + 2 tan 2xr + 4 tan 4x + 8 cot 8x is :
(A) tan x (B) sec x
(C)cot:;c (D) 1/sin x

tan x + 2 tan 2x + 4 tan 4x + 8 cot 8 F TA T :
(A) tan x (B) secx
(C) cot.x: (D) Vsin x
98. If 5 cos x + 12 sin x = 13, then the value of cosec x is :
(A) 12/5 (B) 13/12
(C) 5/12 D) 12413
g 5cosx+1231nx=13,?ﬁcosecx$l'qﬂ%:
(A) 12/5 (B) 13/12
(C) 5/12 " D) 1213

TBC : 24/ECP/II—B | 4B o



99. A rail road curve is to be laid out on a circle. What radius should be used

if the track is to change direction by 25° in a distance of 40 meter ?
(A) 91.64 meters (B) 92.64 meters

(C) 93.64 meters " (D) 94.64 meters

T ¥ 99 99 F JHR TR 7% ° ¥ 40 T = # 25° e wRE H, T E
v § @ S ?

:(A) 91.64 . (B) 92.64 .
(C) 93.64 . | (D) 94.64 .
100. If two circles with radius r; and ry touch externally, then length of direct common
tangent is :
(A) ryro (B) 2nr,
(©) nn D) 3 rlrzh

rlamrzﬁwaﬁaqﬂwﬁﬁmﬁm%,ﬁﬁ%mammﬁ@
it T ¥ |

(A) ryrg (B) 2,rnr,
(©) Jrr D) 3ynn
S )
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